2013.1. 9.

2013. 2. 6. a>c
keisan
2 2 2
X VA
A " a a C c>a
/ 2 2
' ’ X° z
XZ -0 4+t 2
y aZ CZ X=a 1_—2
C
2
c dx
S= 27X 1+[—j dz
c-h dz
2
a
2 n 2 r_
c X XX X' =——12
> Y =2ra —+—( 2) dz c?

c-h a2 a
2
c e 5
:Znaj 1-—z%dz B a
c-h CZ SII’]@—EZ e= 1__2

c
_ 92 -2 C
_27zajg1 V1-din egcosade 0,=sn'e
=% [*(1+ cos26)d6 _ h
e & 0,=sine, e=e 1_E
=7Z—ac|9+sinecosezz
e 1
V=L, 7X’dz =7 Gntetel-e? —sinle, e, 1—e12}
e
8% e (2 2 . —
=zr—| (c*-2%pz 1 _g§n-
ﬂcz th( )j :”ac{sn il e1+3—(1—ﬂ) 1—612}
2 3|° e c c
c? 3|, a>c
- a>Cc
_ wa*h? (3-h)
3(:2 . -1 L q -1 > h
S=7zaC{Smh ees'nh el+%—(1—%}/1+ef} e= 2_2_1 e1=e[1—gj

a=C

S =2rah



